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Question ID : 8161611061
Status : Answered
Chosen Option : 4
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Q.6 %ﬁﬁwmﬁﬁm#wgﬁﬁmmmmmwmwm@mwm

T

1 I 1

de 11T !
R il
Xila & & A
<] =] =] =
T0 00
N PR
< = <1 [=
—c—  — — |
00 00
Xsly v v v
<] [= <] [
T 10
Koa A A
< = <1 [=

Question ID : 8161611067
Status : Answered
Chosen Option : 2
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Question ID : 8161611060
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Chosen Option : 4
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Question ID : 8161611046
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Question ID : 8161611056
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Question ID : 8161611065

Status : Answered

Chosen Option : 4
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Question ID : 8161611063
Status : Marked For Review
Chosen Option : 4
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Question ID : 8161611059
Status : Answered
Chosen Option : 2
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Question ID : 8161611044
Status : Answered
Chosen Option: 2
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Question ID : 8161611066
Status : Answered
Chosen Option : 2
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Question ID: 8161611064
Status : Answered
Chosen Option : 1
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Question ID : 8161611050
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Chosen Option : 1
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Question ID : 8161611057
Status : Answered
Chosen Option : 2
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Question ID : 8161611054
Status : Answered
Chosen Option: 3
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Chosen Option : 1
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Question ID : 8161611055
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Question ID : 8161611048
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Chosen Option : 2
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Question ID : 8161611045
Status : Answered
Chosen Option: 1
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Question ID : 8161611049
Status : Answered
Chosen Option : 2
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Question ID : 8161611075
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Chosen Option : 4
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Status : Answered
Chosen Option : 4
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Status : Not Answered
Chosen Option : --
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Question ID : 8161611087
Status : Answered
Chosen Option: 3
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Question ID : 8161611071
Status : Answered
Chosen Option: 3
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Question ID : 8161611079
Status : Answered
Chosen Option : 2
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Question ID : 8161611078
Status : Not Answered
Chosen Option : --
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Status : Answered
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Question ID : 8161611081
Status : Answered
Chosen Option : 2
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Question ID : 8161611091
Status : Answered
Chosen Option : 3
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Question ID : 8161611069
Status : Answered
Chosen Option : 2
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Question ID : 8161611083
Status : Answered
Chosen Option : 2
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Question ID : 8161611084
Status : Not Answered
Chosen Option : --
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Question ID : 8161611086
Status : Answered
Chosen Option: 3
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Question ID : 8161611082
Status : Answered
Chosen Option : 4
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Question ID : 8161611093
Status : Answered
Chosen Option: 3
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Question ID : 8161611072
Status : Answered
Chosen Option: 1
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Question ID : 8161611092
Status : Answered
Chosen Option : 3
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Question ID : 8161611090
Status : Not Answered
Chosen Option : --

Q.22 e} 2020 deh, IsaquT J ifderan i i off)
Ans o 1 gEwRe

75 2. 7erRIE
75 3. afes

/X 4. after g

Question ID : 8161611088
Status : Answered
Chosen Option : 1
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Status : Answered
Chosen Option : 1
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Question ID : 8161611070
Status : Answered
Chosen Option: 3
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Question ID : 8161611076
Status : Answered
Chosen Option: 1

Section : Quantitative Aptitude
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Question ID : 8161611098
Status : Answered
Chosen Option : 2
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Question ID : 8161611101
Status : Answered
Chosen Option : 2
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QuestionID: 8161611110
Status : Answered
Chosen Option: 1
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Question ID : 8161611108
Status : Answered
Chosen Option : 3
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QuestionID: 8161611114
Status : Answered
Chosen Option : 4
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QuestionID: 8161611116
Status : Answered
Chosen Option : 3
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QuestionID: 8161611112
Status : Answered
Chosen Option : 3
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Question ID : 8161611107
Status : Answered
Chosen Option : 4
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Question ID : 8161611103
Status : Answered
Chosen Option: 1
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Question ID : 8161611099
Status : Answered
Chosen Option: 1
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Question ID : 8161611104
Status : Answered
Chosen Option : 3
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Question ID : 8161611105
Status : Answered
Chosen Option : 4
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QuestionID: 8161611118
Status : Answered
Chosen Option : 3

Q14 = Je-Fa & qoU 55 F9 Oo0 § 20% 0 g G o i 3w sifeT dpw W 10% #
T & TS| T Wi T gem?

Ans  of 1. 8%
X2 9%
X 3 10%
X4 11%

Question ID : 8161611097
Status : Answered
Chosen Option: 1
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Q.15 The greatest number which may replace * in the number 1190%*6 to make the number divisible by 9 is:

Question ID : 8161611094
Status : Answered
Chosen Option : 2




Q.16 Ina class, the average score of thirty students on a test is 69. Later on it was found that the score of one student was
wrongly read as 88 instead of 58. The actual average score is:

Ans X1 88
v 2 68
X 3 58
< 4 69

Question ID : 8161611096
Status : Answered
Chosen Option : 2

Q.17 fSr=fafam after & geiv orv siwst & wgEw, 50 Sfoee & &3 3 o1 arer orst & afe r 7

9redis |10 to 20 | 20 to 30 |30 to 40 |40 to 50 |50 to 60 |60 to 70 | 70 to 80
orEr #r 5 11 18 38 39 24 15
=

Ans X 1. 72%
X 2 38%
Ve 48%
X 4 74%

QuestionID : 8161611115
Status : Answered
Chosen Option: 3

Q.18 The following table shows the number of students enrolled in different streams in a particular college.

Science Arts Commerce Vocational
Boys Girls Boys Girls Boys Girls Boys Girls
32 18 28 45 42 42 13 30

The ratio of the number of girls studying Arts to the number of girls studying in all other streams is:

Ans o 1.1:2

_ =

Question ID: 8161611117
Status : Answered
Chosen Option : 1
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Question ID : 8161611106
Status : Answered
Chosen Option : 2
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Question ID : 8161611102
Status : Answered
Chosen Option : 4
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Question ID : 8161611100
Status : Answered
Chosen Option : 3
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QuestionID: 8161611113
Status : Answered
Chosen Option : 4
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Question ID : 8161611095
Status : Answered
Chosen Option : 4

Q24 vw goT #, AB Tw eurw § AT CD ves Shar 31 AB 3T CD Y @ert I W ged ¥ AET U
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T Fifaw

Ans 1. 7.5cm
o 2 85cm
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/5 4 8cm

QuestionID: 8161611111
Status : Answered
Chosen Option : 2

925 pag0 Fz I frET g S g A Wos T AB v ST SiaTg 5 £ BAQ = x° (x < 90)]
C AT ATAB WUk tmrRigd 5 2ACB = y°1 AR £4B0 = 32°F, A x + y FAATART

Ans X1 112
< 2 08
< 3 110

v 4 116

Question ID : 8161611109
Status : Answered
Chosen Option : 4

Section : English Comprehension




Q.1 Select the most appropriate synonym of the given word.

Relief
Ans X 1. Stress

W 2 Aid
X 3. Anger

x 4. Emotion

Question ID : 8161611133
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate ANTONYM of the given word.

Humane
Ans X" 1 Kind

75 2. Living
X 3. Sympathetic

“ 4. Cruel

Question ID : 8161611135
Status : Answered
Chosen Option : 4

Q.3 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. So, in the agrarian era, you destroy your enemy’s productive capacity by burning his crops
or fields.

B. Now, in the information era, destroying the enemy’s productive capacity means
destroying their information infrastructure.

C. You battle with your enemy by destroying the enemy’s productive capacity, which will be
different depending upon the foundation of economy.

D. But in the industrial era, ending productive capacity meant bombing of the factories that
are located in cities and main industrial areas.

Ans X" 1 ACDB

75 2.BDAC
o 3.croB
#< 4.ACBD

Question ID: 8161611132
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate option to fill in the blank.

The popular leader is remarkable for the way in which he
politician and a world class thinker.

Ans X" 1 controls
x 2. conditions
X 3. portrait
J 4. shows

the qualities of a good

Question ID : 8161611143
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Long after those five horses finish drinking water from the trough, an old horse appeared

over the brow of the hill.

Ans X 1. had been finishing
x 2. have finished
X 3. No Improvement
o 4. had finished

QuestionID : 8161611124
Status : Answered
Chosen Option : 4

Q.6 Select the word which means the same as the group of words given.

A building where grain is kept or stored
Ans X 1. Grate

X 2. Grandstand

x 3. Greenery

( 4. Granary

Question ID : 8161611139
Status : Answered
Chosen Option : 4




Q.7
Ans

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

When you enter a restaurant, you take your (1) and you are served a glass of water. You
take your (2) to decide what you should order. When a (3) appears, you ask him
the routine question, “(4) do you have?” The waiter will begin to recite (5) day’s
menus, generally with nothing new in it, but you like to hear it all over again.

SubQuestion No : 7
Select the most appropriate option for the blank numbered 1.

X 1. plate
#< 2. counter
o 3. seat
X 4. stage

Question ID: 8161611126
Status : Answered
Chosen Option: 3

Q.8
Ans

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

When you enter a restaurant, you take your (1) and you are served a glass of water. You
take your (2) to decide what you should order. When a (3) appears, you ask him
the routine question, “(4) do you have?” The waiter will begin to recite (5) day’s
menus, generally with nothing new in it, but you like to hear it all over again.

SubQuestion No : 8
Select the most appropriate option for the blank numbered 2.

75 1. place
o 2 time
75 3.pen
X 4. wallet

Question ID : 8161611127
Status : Answered
Chosen Option : 2




Q.9
Ans

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

When you enter a restaurant, you take your (1) and you are served a glass of water. You
take your (2) to decide what you should order. When a (3) appears, you ask him
the routine question, “(4) do you have?” The waiter will begin to recite (5) day’'s
menus, generally with nothing new in it, but you like to hear it all over again.

SubQuestion No : 9
Select the most appropriate option for the blank numbered 3.

X 1. friend
7% 2. manager
X 3. cleaner
o 4. waiter

Question ID: 8161611128
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

When you enter a restaurant, you take your (1) and you are served a glass of water. You
take your (2) to decide what you should order. When a (3) appears, you ask him
the routine question, “(4) do you have?” The waiter will begin to recite (5) day’s
menus, generally with nothing new in it, but you like to hear it all over again.

SubQuestion No : 10

Q.10 Select the most appropriate option for the blank numbered 4.

Ans

75 1. When
X 2. How
W 3. What
X 4. Why

QuestionID: 8161611129
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

When you enter a restaurant, you take your (1) and you are served a glass of water. You
take your (2) to decide what you should order. When a (3) appears, you ask him
the routine question, “(4) do you have?” The waiter will begin to recite (5) day's
menus, generally with nothing new in it, but you like to hear it all over again.

SubQuestion No : 11

Q.11 Select the most appropriate option for the blank numbered 5.

Ans X" 1 this
X 2.a
X 3.an
o 4. the

Question ID: 8161611130
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate ANTONYM of the given word.

Extol
Ans  of 1 Censure

X 2. Realistic
x 3. Exposure

X 4. Boorish

Question ID : 8161611136
Status : Answered
Chosen Option : 1

Q.13 Select the correct passive form of the given sentence.

Conduct all the exams in a fair and proper manner.

Ans X 1. The exams were all conducted in a fair and proper manner.
x 2. All the exams are conducted in a fair and proper manner.
( 3. Let all the exams be conducted in a fair and proper manner.

x 4. Let all exams should be conducted in fair and proper manner.

Question ID : 8161611121
Status : Answered
Chosen Option : 3




Q.14 Select the most appropriate option to fill in the blank.

Today's graduates should
life.

Ans X" 1 encourage

J 2. upgrade
/X 3. dilute
x 4. active

their skills constantly to be able to excel in their career and

Question ID : 8161611144
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence.

You must go to the book fair if you are liking_it or not.
Ans X" 1. although you are liking it

J 2. whether you like it
X 3. if you like it
x 4. whether you have liked

Question ID : 8161611123
Status : Answered
Chosen Option : 2

Q.16 Select the word which means the same as the group of words given.

Working very hard and very carefully
Ans X" 1 Indigent

x 2. Indulgent
( 3. Diligent
x 4. Dilatory

Question ID : 8161611140
Status : Answered
Chosen Option: 3

Q.17 Select the INCORRECTLY spelt word.
Ans ( 1. Labarotary

x 2. Absence
X 3. Presence

x 4. Definite

Question ID : 8161611141
Status : Answered
Chosen Option : 1




Q.18 In the sentence identify the segment which contains the grammatical error.

Ans

It's raining heavily, so you should take an umbrella, but you will get wet.
X 1. It's raining heavily

x 2. should take an umbrella

X 3. soyou

J 4. but you will get wet.

Question ID : 8161611119
Status : Answered
Chosen Option : 4

Q.19 Given below are four jumbled sentences. Out of the given options pick the one that gives

their correct order.

A. They were all very bright and eager to learn, and the sage was proud of them.

B. One day he realized that he had imparted sufficient knowledge to his disciples.

C. Once upon a time, a great sage had a group of obedient disciples.

D. There was only one thing that he had not taught them - a special mantra that could bring
the dead back to life.

Ans X" 1 ACBD

75 2. ADBC

/< 3.DBAC

o 2. cABD

QuestionID: 8161611131
Status : Answered
Chosen Option : 4

Q.20 Select the correct indirect form of the given sentence.

Ans

Johnny’s mother said, “Johnny, run down to the grocer’s and get a loaf of French bread and a
pound of cheddar cheese.”

x 1. Johnny’s mother pleaded with John to run down to the grocer’s and get her a loaf of
French bread and a pound of cheddar cheese.

x 2. Johnny commanded his mother to go down to the grocer and buy a loaf of French
bread and a pound of cheddar cheese.

X 3. Johnny asked his mother to run down to the grocer’s and get a loaf of French bread
and a pound of cheddar cheese.

J 4. Johnny’s mother asked him to run down to the grocer’s and get a loaf of French
bread and a pound of cheddar cheese.

Question ID : 8161611122
Status : Answered
Chosen Option : 4




Q.21 Select the INCORRECTLY spelt word.
Ans “ 1. Fasineting

x 2. Grammatical
x 3. Occurrence

x 4. Professional

Question ID : 8161611142
Status : Answered
Chosen Option: 1

Q.22 In the sentence identify the segment which contains the grammatical error.

The big ship sank and everyone abroad drowned.
Ans X" 1.and everyone

J 2. abroad drowned

#5 3. The big ship

x 4. sank

Question ID : 8161611120
Status : Answered
Chosen Option: 2

Q.23 Select the most appropriate meaning of the following idiom.

To take a back seat

Ans J 1. To become less important or to give up control over things

x 2. To go through a short but unpleasant period of time
X 3. To be less successful in one’s efforts

x 4. To lecture or criticise the person who is actually in control of something

QuestionID: 8161611138
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate synonym of the given word.

Inclement
Ans X" 1 Stormy

x 2. Pleasant

o 3. Dignified

x 4. Wonderful

QuestionID: 8161611134
Status : Answered
Chosen Option : 4




Q.25 Select the most appropriate meaning of the following idiom.

To bark up the wrong tree

Ans x 1. To cover oneself with the outer covering of a wrong tree
x 2. To sound or appear ferocious but not actually so
J 3. To do something that will not get the result you want

x 4. To make a sound like that of a dog

Question ID : 8161611137
Status : Answered
Chosen Option : 3




